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Open File - Security Warning &J

Do you want to run this file?

[ Mame: ..\Mew folder [8)\gol.11.4. windows-amda4 [1).msi
Publisher: Google LLC

Type: Windows Installer Package
From: H:\Mew folder [8)\gol.11.4. windows-amd&d [1]....

| Run | [ Cancel

| Mways ask before opening this file

While files from the Intemet can be useful, this file type can

l-._x ! " paotentialty ham your computer. Onby run software from publishers

= youtrust. What's the risk?

_[_é"-_IJ Go Programming Language amdéd gol.11.4 Setup | = | |&

Welcome to the Go Programming
Language amd64 gol.11.4 Setup Wizard

The Setup Wizard will install Go Programming Language
amd&4 go1.11.4 on your computer, Click Next to continue or
Cancel to exit the Setup Wizard.

Rack Mext ] | Cancel |

b = é




ﬁ! Go Programming Language amdéd gel.11.4 Setup

End-User License Agreement

Please read the following license agreement carefully

*

Copyright (c) 2005 The Go Authors. All rights reserved.

Redistribution and use in source and binary forms, wWith or
without modification, are permitted provided that the
following conditions are met:

m

# Redistributions of source code must retain the above
copyright motice, this list of conditions and the following
disclaimer.

*# Redistributions in binary form must reproduce the
gdbove copyright notice, this list of conditions and the

[¥]1 accept the terms in the License Agreement

Print ] [ Back ][ MNext ] [ Cancel

]

—'é

ﬁ Go Programming Language amdéd gol.11.4 Setup l = é,l

Destination Folder
Click Mext to install to the default folder or dick Change to choose another,

Install Go Programming Language amde4 gol.11.4 to:

|C: \Goh

-

GO (b e
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‘_'E] Go Programming Language amd64 gol.11.4 Setup E-E

Ready to install Go Programming Language amd64 gol.11.4 a

Click Install to begin the installation. Click Badk to review or change any of your
installation settings. Click Cancel to exit the wizard.

Back ][ Install J [ Cancel ]

ﬁ! Go Programming Language amdé4 gol.11.4 Setup l = &J

Installing Go Programming Language amd64 gol.11.4 &

Please wait while the Setup Wizard installs Go Programming Language amdé4 gol.11.4.

Status: Copying new files I
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_[_é"-_IJ Go Programming Language amdéd gol.11.4 Setup =" &]

Completed the Go Programming
Language amd64 gol.11.4 Setup Wizard

Click the Finish button to exit the Setup Wizard.

Bac Cance
- = éﬂ

ST GO L) (o3 (shal 6go L) lad 33 ()3 )3 -34S Egpid |y 395 (unghsS ilgize o)) 4 Leid b Jolpo b 1 a=

IS
GO 3 63lw doliyy O sl

)9 9 )liSls @olgd 50 (19)d (1 )3 3030 pinles | el S 4oliy ol paugly GO (L) 4 63l )l 4ol SQ 3o ol

13085 4295 pgo Sl dSS ol @ by slaul 5l Ju8 a2 Zusgi 1) GO edlw deliy <O (ob;

-l polns B9)> (439 295 9 S 4 GO (a2 3 429l «S2gS 9 S Bgp> @ (ST ALy 9 4oliyy ol i) )

odolive (JB 1) joaing &I o hhld Wiguy a5 Cunl ¢l 345 Jlacl &5 iS50 awogi (w)y> al Egpd jl J8 &5 (SleahdiS j1 (S

:a0p |y Folder and search options 4iy;S Organize (ggio j| j Ojg0 @ g aidy My Computer a )15 ¢pl gl .2uS
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Properties

Remove properties

Close o
3 q ~4.30 GB

levices with Removable Storage (3)

ESEE
@U":E‘ » Computer » v | " l ’ Search Computer geol |
Organize v Properties System properties  » s~ 0l @ '
Cut 3 % -
Y ard Disk Drives (4) — '
2 Copy o
= Local Disk (C:) [
| Paste — | I ‘
Undo 4.30 GB free of 97,6 GB
Redo Local Disk (D:) =
e
Select all ﬁ/ 1.49 GB free of 292 GB
[] Layout » Local Disk (E:)
z 5 |
Folder and search options h/ 317 GB free of 292 GB L
75 Delete Local Disk (F:)
Rename = - -
a h/ 844 MB free of 247 GB

-

\o

a3y Iy Hide Extension for khnown file types aiy;S jUS <S5 g i) View Sppw 4 pj )00 4 0846 U 0y 5l



n GO U e
Folder Options @

| General | View | Search|

Folder S

You can apply the view (such as Details or Icons) that
D you are using for this folder to all folders of this type.

Apply to Folders Reset Folders

Advanced settings:

. Files and Folders -
[T] Always show icons, never thumbnails Fi
[ Always show menus

i [¥] Display file icon on thumbnails

[¥] Display file size information in folder tips ]

[ Display the full path in the title bar {Classic theme only)

1 | Hidden files and folders

@ Dont show hidden files, folders, or drives
() Show hidden files, folders, and drives
[¥] Hide empty drives in the Computer folder

Hide extensions for known file types

[¥] Hide protected operating system files (Recommended) ~

v
ok | cancel | @Ry |

m

@ GO (sasly (shal g JalolS (5l ladd (i aidS a5 johilad @310 usdgs |y GO )3 doliy gl dloyl 69 1) Lais dolsl j>

L] ) Gungias baume b IDE o Laib a5 @aiS(0 02)9 oVl 9 @3)S wad 8 93 )3 1) o & )ls 5L bj ol Hhlels

S lal gl ol> Welcome to Go Tutorials pléw puolgsse doly ol ) .« dwwgiy GO doly SO Juolgss0 g 3y)las

o3>3 80 iguny b 9 (3415 Cule ) SzgS 9 )i B9y=) aidsgs o Y215 53 1) 0 (5035 9 63,5 ;b |y Notepad wiile yie )Sidalg
s

package main

import "fmt"

func main(){
fmt.Println("Welcome to Go Tutorials!")

NoOuphWwWNER

}
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| Untitled - Notepad

File | Edit Format View Help
Mew Ctrl+M =
Open... Ctrl+Q
Save Ctrl+5
save s e to Go Tutorials!™)
Page Setup...
Print... Ctrl+P
Exit

1 P

( ﬁ Save As ﬁ

@uvLJ b Computer » Local Disk (D:) » - |¥9 | | Search Local Disk {D:) yel |
Organize * New folder 4= - (7]
. ~
B videos i Mame Date modified Type *

*d, Homegroup

m

1% Computer
&, Local Disk (C:) —
Local Disk (D)
e} CD Drive (M)

m

i‘j Metwork
B« [ T b )
File name:  MyFirstProgram.go| e -
Save as type: | Text Documents (*.bd) vl

&) Hide Folders Enceding: [ANSI v] eSEUE J ’ Cancel ]




et
’ EERERS
e v Computer » Local Disk (D:) » - Search Loc...
(L J®|ca » Comp Local Disk (D:) 4y ol
File Edit View Tools Help
Organize = Include in library = Share with » Burn MNew folder == + [ l@l
B Videos “ MName =
| MyFirstProgram.go.txt
9@ Homegroup
M Computer
&, Local Disk (C)
a Local Disk (D:}
o CD Drive (M:)
‘?j MNetwork
|~ T b
17 items

o - txt Bguwn 1L Ladb a5 3950 0ya>d MyFirstProgram.go.txt Sguwy b il s jl a2 (iS50 siolive a5 jghilo

1S LIS Yes dijS 59y p 2b Ladd aS dgd0 4ol 1) a0 @) (soley (igw (53,5 Sb pKin L3S Bis )

Rename

L

If you change a file name extension, the file might become unusable,

Areyou sure you want to change it?

013 ) 90 4 ol (led JSi U
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- = ;
@,kr/,vll_.ﬂ » Computer » Local Disk (D) » - [ 44 | [ Search Loc.. P

File Edit Wiew Tools Help
Organize = Include in library + Share with - Burn Mew folder =~ [ ﬂ
B Videos i Name m

¥, Homegroup

1M Computer
&, Local Disk (C:)
a Local Disk (D)
=3 €D Drive (M:)

m

"fli Metwaork

17 items

7

| MyFirstProgram.go

m

I

Iy Enter daS> g didigd T J2I5 )3 Iy 335 45 9 03,5 5L Iy amd 1ol .o)l> )18 D g3l)d 53 Lo Jald .awny50 delip shol & cog Jlo

Microsoft Windows [Version 6.1.7601]
Copyright (c) 2009 Microsoft Corporation.

C:\Users\siavash>d:

D:\>go run MyFirstProgram.go
Welcome to Go Tutorials!

D:\>

R e

All rights reserved.

950 |y (T gy olyatd 43 859, U Luaw 9 80 run dlaz ol Go (sloaS ghal (gl (AuiS (50 830U YU AS )5 a5 jghilas

(MyFirstProgram.go Jio)

GO 3 doliy < jlislw

o Gl iuled axbwo 5 pley SO Giuld YU JUns )5 Ba g GO ) 3lgie lad a5 cawl (glaoly (yayieskw Vb JLo

package Jgl b5 ;5 @03 Zuogi Vb JUo )3 |) 35 k5 10 Loy sjlal .l LungisS gly (gaclgd (ghld uugd 4oy b



1 GOyl e

0307 (slga)d 53 package 6,b)3 3550 (5)5ol> lgol 5135 1 g Gl Lads bawgs 6340 ailidgs (sLoaS Jolid a5 Cauwl 63s Layy=i

-l ol S ghol gl ki ¢l 3929 a5 @S HSS 1Al aed )3 1) aiSS ol ks 51 padles> xubgs

o3lainl )90 (ol Jolie (5l plAS o g Wgd 50 uad GO HhlelS Cuas plKie g 5595 )0 a1 a5 Cunl (e package (gl)ls> Go
b5) @S ;e 63laiwl import (g3ulS aalS jl lo package ¢p! jl eslaiwl (gl .abbs0 fmt (o package ¢pljl X 35,550 H1)8
a5 1o 1) Yo &5 Mgdse ol (5189 45 Cuwl 35 (o SO Jolid Aoy 3550 63200 Lol xie b main() vie & b5 (¥
a5 cawlizo ol Rl .cwl doby ha! jLET akds main() dio .3 pudled Fusgi (g3 Jouad )5 (T () 1o 892 g Lo 8y
Ao 1> @adlgs Zusgl (g Jouad jd> Main() dio 6ybyd 390 ol AT audy Guaw g Main() v J5Id loas pled lawl
Sl Gl . auii 1o |y e a5 Mg se ol S (;i8g g Jubbse o] 515 )5 (S g 3YgST ghyls o akie plw g main()

D Gl 3y ©jg0 43 GO > AT kS

fmt.Println( )

GB35 Jolid a5 cuwl 4Bl sl (5bj S GO .3g)50 )15 4 35 Sgb SO Linyei (5l SY5ST .l 6asb aiivgs () sY55T O s >
b 5l edd didgd (G35 dad 2L a5 (}) iy 3Y55T S ghld b Go y3 (1) jL SY6ST o . 3bb0 (lghd (slo)lise g Sb;
Aol Laed0 i Ginled axmbdo )> |y Welcome to Go Tutorials! plew a5 ks (pl .cawl 35 Soly SOV k5 U 6
G oS Cwl ySHIS 51 o9, didy o 390 edliiml aidy S Ol (gl oyl H)E fmt package J5Is j> a5 Println()

:“IWelcome to Visual Go Tutorials” sile .Cuwl 8ddb joamse () cpiaigS Jold dlusg

o2l sl 034 631> (i Println() die jl edlatiwl 6920 YU Jlie JS 50 2L ... b Cole dac ady> S Blgie yiSHE SO
O diaan 35550 03050 1) am bohs g (I (glad GO .3gd 50 e3laiwl ydlie Ll gl ¢ 51 g 039 Fmt 2uSs j Ao ) Ao
9 oaidy 351> Gy po b Go y> man g MAN Jlis job @ iy .Cuwl (wlns Bgys> (S295 9 (51 U GO a5 1l aidbly s

Bgib 505 )2l g g0 4zlge as b 1) (sloaS Wis . 31> @udles> Zudgi 63T (5lgaw)d 5> 45 Jmd (ikime 03l ¢l 51 Olxudgs

fmt.println( )
fmt.PRIint1ln( )
FMT.Println( )

bl s (590 WolS pj 35 Lol .0iS (50 (559l W3S (ghal jl B9y (295 9 (S )3 s
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fmt.Println( )

gy VST J513 )3 1) 395 (oS aiu

{
statementl
}

Al () pISaaw @ (5515 GO (L) > bl o]y blas jansils 9 by piz @ yig) laid uggisS &5 Seie e )5 ol

A 13> giwd 93 pj b 93 Wie <Gl 830y LG U b3 T a5 Cunl ¢l djie 4 abh Enter )L G b3 o jl a2 oS (aad

fmt.Println( )
fmt.Println( )

Olxudgs

by (sl yidin 9) GO )3 .S WLl (T ) 35 T adabg (5)9Tolh g2 Gile 45 Wolga L 1S (o B (635 &5 By
@ 9 19 (50 4i8)S 63350 Lol buwgi a5 Aiiwd (Hgie Wlmudgs .31y plosl Wilowbgi 1 eslaiuwl L 1y )15 ¢l ¢lgs (0 (L

P Vg (03 Dogue 35 I (kS lgie

a5 23S oyd Ll L% (Gl cladh wgd Ak dlbgs (gLoaS L Housuini 9 (RUlg> (93 YL Wilawsdgs slsyl il Glol Ban
Ao (ghy ©lxadgd jl . aumgiy o IS L 35 (VL )3 1) Oloxwdgd Ay (-0 a0 RudgS (ols 35 S 390 )d Judlg> (0
Dl 0ddd 031> (L Wil gl (iad) i) doliy )3 39 (5o o3ldiwl po 4oly (gjlw
package main
import

func main(){
//This line will print the message hello world
fmt.Println( )

}
dlaz bdd YL IS hhol b T Cuwmns ¥V ki dadbg a5 AiS (50 elel ))15 4 a5 Cwl V b 0)ly)d Zusdgs S YU AS £ bs Wb A )
030Lixe a5 jghilad .3)5 (50 63030 Iy Wilowb gl HhlLwlS (192 364 (505 6315 Linlad ;29,5 3 Jgl ko5 g 644 wlz Hello World

lowsdgd 1 Al jLo bs Ol Gl 4 35 SO )y 2usgi )51 .30 (50 e3laiwl // Caale j1 GOy Wilxusdgi 253 (gl S (50
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32 35150 )18 Cole 93 ¢l w45 (glaidiel y 3L LL */ b g Egpib /* b i iz Glawdgi gk (50 e3laiwl (s Mix
package main
import
func main(){
/*This line will print
the message hello world*/

fmt.Println( )
}

S GlyShlS

S g Mo dae b Byo S gl JLos 4y g wigibse Egpid (\) Uil o S b &S Siiwd (255 (5 SHIS ()i sleoysShls
o3l \n (S ySHIS 51 glgdse o )3 diddy (5313 )18 g 13z b ) dloul gy Jlie (glp . 3id3 50 Ginlad Gols Cueyd b |y i)
1S

fmt.Println( )

Hello
World

A0 igled 3 i )3 ) dids) 4y 9 63y 32 b @y ) pugle T3S \n S JITHIS L aglge jlamy JhluelS 45 33,5 eamlive
AN GHiiS S hS SO aiid) gleisl jd a5 @ygo (3 didl (iS50 dleul s ks SH \n (Jyis )iShS sl po Println() aie

D AS 50 adlal

fmt.Println( )
P9l o b (88 e ;35 9 Vb S

fmt.Print( )

AUS (500 dloul Az b g 3150 &5 b law §3 1) Gugle ,S5Lin 45 Wglas (1l b 313 Println() @ auwd (63,55 Print() vie

P30 gl |y LT )55 9 G Loy cund 105 Joa=
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PRI Slac S S 3ySdae
\’ OaaSgS ol \f Form Feed
& ossS s ol \n Wiz bo
\ B \r 09) yhww yu
\e S glad ol \t LSl G50 ) Sy
\a e (gle \v (§39a8 )90 @ 5>
\b e @ Sy \u 3Sg ySHB ol

SO ol (gl W30 i, 4 ol (glize \ aSulesT jI.auiS (50 a3kl (\) ikl SO j1 JyiS lo,sSH ;1 eslaiul gl o
t S odlatwl (\\) 510 (\) (el
fmt.Println( )
D Cwl 5339 53 Jab SO a1 i A\ I eslaiwl 3)lge 1 (S
fmt.Println( )

C:\Program Files\Some Directory\SomeFile.txt

D puiSse edlaiwl \” 51 T Llz (gl @uS5e odlatiwl lodidy ()31 lis gy () oS Jold 1 aSuyledT 5l

fmt.Println( )

I said, "Motivate yourself!".

P paiSiee o3l \7 51 () paideS ole sl prizen
fmt.Println( )

The programmer's heaven.

3950 03wl \t jl wlalS b Bgy> (0 dbold skl (gl

fmt.Println( )
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Left Right

P Wgdi50 39290 (SYSHI Sz 9 Jiiie yhw Jgl 4 dale \P GhiiS LIS 1 a2 a5 ,iSHE slass o

fmt.Println( )

‘

Ao MUy (0550l g 63y yhw glail @ |y K Gy ()i S THS cawl 030l \r (S SIS 51 as K s HIS Yo JUie 5 Wie

Hh8 \u cole jl amy cawyd |) J5SHIS 18 (glao ) Hladoe AU jl eslasiuwl (gl 3,5 edlasiwl \U I lgie 3S6gs slo)iSHS wle glp
2 Aiile @ 1,8 1) A900 Hlade \U ol I 3oy LU (auiS Llz 1) (0) Culy (S Cuole @udlgz) (ST o (gl @350

fmt.Println( )

D anle dezlyo pj S O ASgy (_gLD)JSI)S 6 17 Gliso pdldo cunyd s30lie (glp
http://www.ascii.cl/htmlcodes.htm

s 2oy a5 Wbl o Gl iloj Uad payiiiny 3230 LaS pliy doly IS 395 jlaxe yud IS JIHE Sy @ )LLels )S]

DS aezlio ) Si @ (JyiS lo)iSHIS 390 55 yidin wleMbl cdly)s (gl S 5o ealaiwl \\ I () Giddwl ol gl

https://msdn.microsoft.com/en-us/library/h21280bw.aspx
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Jastio
o3> a5 3)5 joas By Sy ploic @ Iy T Glgise 35 0)usd T )3 |y (gdlie 1lgis0 lad a5 Cuwl dbdls | (S5 jusio
00 O Gb jl &5 . Cawd 315 pb S (gh1s yuio 4o .35 juei b 39d Sy Jlgie b (il Glgimxe .0lesls )h3 T )5 1) 595
25 bwgs Slgize S 1blse late S GhIS puiza® .3 lay s T Hlaie 4 g 31> parsdS yuie 503 1) e
b ol 99 45 (i () Cand 55 95 (Shl> pakin AL 55 (545 Vlgize pukio lake 3L asslone Sy angis b AL oxd Ll

sl (S 39850 0)uBd (4T )3 S (glesls Egi

Clgh )3 9 .35 )18 eslaiunl 3)90 aoliyy Job )3 jadz 0 pkie a5 315 Yarxds plgie Ol (69 j &5 Cund 5 yac Ghl> yusiio
O yusie jl Lo .l uyiwd J Lad (5l doly (glz dz ) jusiio 45 35550 ladd 4 45 Cund 15 3liiwl 8393 (g])l> yuiie
@313 8153 (glp 5o SO 4 gliis] @S0 oyl by S a5 LolKie L@uSse dlaiwl 631> 8,3 (Gl (SiBge HLil Sy lic

Gl pagio lad () ¢l L ald Wgdise 3)lg )5 Luwgs a5 (pedls b pslie

o ya2io .@ud yuei |y ol jlaie bl eV &5 o o byl Eg 4 diwn palgize o (H92 3950 odlaimwl yugie dalS jI ¢l (glp
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break default func interface select
case defer go map struct
chan else goto package switch
const fallthrough if range type
continue for import return var
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package main
import
func main() {

//Declare variables
var numl

var num2

var num3

var numé

var boolVal

var myChar

//Assign values to variables

numl = i
num2 =)
num3 = 3.54
num4 = 4.12
boolVal =
myChar =

//Show the values of the variables
fmt.Printf( , huml )
fmt.Printf( , hum3 )
fmt.Printf( , hum4 )
fmt.Printf( , boolval)
fmt.Printf( ,
fmt.Printf( ,

numl
num3
num4

boolval
num2
myChar

)*nxonai;u
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var identifier type
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var identifier = value

//or

identifier := value
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var numl = 1
var num2 = 2
var num3 = 3.54
var numé4 = 4.12
var boolvVal = true

var myChar =

€

numl = 1
num2 e 2
num3 = 3.54
num4 = 4.12
boolval := true
myChar :=

= 523 )lade (g (AW bghs) Lsio (gl pb g g5 Ol (siny pusie Lyl . Cunl Bglite loyusio 05 jlade b jueie Liyyes
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var (
numl = 1
num2 = 2
num3 = 3.54
num4 = 4.12
boolval = true
myChar =

)
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numl myNumber studentCount total first_name _minimum
num2 myChar average amountDue last_name _maximum
name counter  sum isLeapYear color_of_car _age
jloe yud (slgals
123 #numbers# #ofstudents 1labc2
123abc $money first name ty.np

my number this&that 1last name 1:00
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Jle @ yigr S5)> glp Nside pSale 4ty 1 s plegT Hlaie b (% 9 ySH) cas)s gl .l 0301 (2l0yiS S olyao a3 %

1S 4ol Cawl 004 03wl HlagSils F 5l T ) &S 5

fmt.Printf( , intvalue, stringvalue, boolvalue, floatvlue)

fmt.Printf( , intvalue, stringvalue, boolvalue, floatvlue)
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const identifier data_type = initial_value

: Jlio

func main() {
const NUMBER int = 1

NUMBER = 10 //ERROR, Cant modify a constant

Uhgohd LS a5 (6,50 (SIS L AS (50 dzlge Uas b ) dely 02 (3 Hlaie Wi aS «eoll S @ (531 Hlade a5 aine Jlio ¢l 5>
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var someVariable int

const MY_CONST int = someVariable

3929 daliy jd (gpdlio &5 Myimd (ylako ST Tuns ol jl eslaiwl s a5 bl odal Givg olishy Jlgw ¢l Cwl Sas

Lo 4ol CudsS S2gS diz 10 )5 ¢l . 3uS wyei coll &ygo @ ) 1T a5 Cunl yigy 3S (505 yuss deby Job 3 352 a5 35l

..)).?(JA \HJ I)



g 4oby (slsbj Ghjgel cule W-farsi.com ve

o3ls Elgil Jaaus

D Alez |y pj cdlao 93 1l gu)d (ol Egpid 1 Ji8 @aiS (5o dogs

http://www.w3-farsi.com/?p=5698
http://www.w3-farsi.com/?p=5710
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type_name(expression)

1S 429l 1) A5 .09 Joaud 505 Eg 4 Cawl 18 &S Gl (g usie pb expression g 13> Eg type_name

package main
import
func main() {

var numberl byte
var number2 int

5
int(numberl)

fmt.Println(number2)
}
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package main

import

func main() {

var numl int = 300
var num2 byte = byte(numl)
fmt.Println(num2)

}
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300 = 00000000V 100101100
255 = 11111111
44 = 00101100
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var3 g var2 gas Jol> b cwl ply Varl varl = var2 + var3
var3 g var2 §,as Juwol> b <l plyp Varl varl = var2 - var3
var3 s var2 oualols b cuwl plyp Varl varl = var2 * var3
var3 p var2 puwds Jool> b cuwl ply Varl varl = var2 / var3
var3 g var2 puumids e 35losb b cawl ply Varl varl = var2 % var3
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package main
import
func main() {
//Assign test values

var numl
var num2

5
3

//Demonstrate use of mathematical operators
fmt.Printf(

fmt.Printf(

fmt.Printf(

fmt.Printf(

fmt.Printf( n
fmt.Printf(

fmt.Printf(

numl, num2, (numl + num2))
numl, num2, (numl - num2))
numl, num2, (numl * num2))
numl, num2, (numl / num2))
numl, num2, (numl % num2))
numl, num2, (numl * num2))
numl, num2, (numl / num2))

Lo

//Demonstrate concatenation on strings using the + operator
var msgl =

var msg2 =

fmt.Print(msgl + msg2)

The sum of 5 and 3 is 8.

The difference of 5 and 3 is 2.
The product of 5 and 3 is 15.
The quotient of 5 and 3 is 1.00.

The remainder of 5 divided by 3 is 2.
The result of 5 power 3 is 125.

The quotient of 5 and 3 is 1.

Hello World!
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Cuwl

varl =

varl =

varl

varl

varl =

varl =

var2 ==

var2 =

var2 <

var2 >

var2 <=

var2 >=
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var3

var3

var3

var3

var3

var3
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package main
import

func main() {

var numl int = 10;

var num2 int = 5;

fmt.Printf( , numl, num2, numl == num2)
fmt.Printf( , numl, num2, numl != num2)
fmt.Printf( , numl, num2, numl < num2)
fmt.Printf( , huml, num2, numl > num2)
fmt.Printf( , huml, num2, numl <= num2)
fmt.Printf( , huml, num2, numl >= num2)
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10 : False
10 ! : True
10 : True
10 : False

10 : True
10 <= 5 : False

: 0 =< \oTrue
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var result bool = (age > 18) && (salary < 1000)
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var inRange bool = (number <= 10) && (number >= 100)
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var isPassed bool = (finalGrade >= 75) || (finalExam == 100)
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var isMinor bool = !(age >= 18)
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X=y &z AND (jiuv &
x=y | z OR (iw
X=y "z XOR (i A

X &= y AND uanass (siv &=
x |=y OR (samass iy -
X A=y XOR amais (sin A=

AND(&) (yin ySlac

Ol Gyb 93 ydlio 510680 )15 liw (59 » Xlac (] &5 Wglad (I b 33,0 plosl AND ihio )Slac dud ()15 AND (Siw Slac
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X Y X AND Y
1 1 1
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t Cuwl 0001 AND (i ,Slac j1 o3laiuw] 6925 435 5

var result =58& 3

fmt.Println(result)
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5: 00000000000000000000000000000101
3: 00000000000000000000000000000011

1: 0©00000000000000000000000000000001
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var result int= 7 | 9;

fmt.Println(result)
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var result int =5 2~ 7

fmt.Println(result)
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var result =10 << 2

fmt.Println(result)
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var result = 100 >> 4

fmt.Println(result)
B Lo sjlol . aiiSse o @ Lo o o @ 32lg Fojlasl @ ) oo jlado (gl cunly coaw @) 5o yus)Slac 1 o3latiwl b
D3 )l Guyp 9 | Rlz @ > ol

100: 0000000000000V RVVVVV1100100



g dobiy (5leibj (hjgel culw wY-farsi.com PA
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1A2) (5o Ui |) GO )3 (amasi lo,Slac Elgil 1) Jga

var2 )lade b cuwl ply varl )lade varl = var2 =

var2g varl ges Jol> b cwl plp varl )jlase varl += var2 +=
var2g varl a5 Juol> b el plp varl jlase varl -= var2 -z
var2)s varl oo Jool> b cwl plp varl )jlaso varl *= var2 *=
var2y varl aquwds Juol> b cwl plyp varl jlage varl /= var2 /=
var2y varl auuids e 35losh b cawl plp varl )lade varl %= var2 o/

Wio sl 35 )5 Gungd oS Egi S &8lg 5 l:b)iln.c E ol jl oslaiwl. 5,5 odlasiuw] (ylg3 (5o ju3 diddy 93 JLasdl gl += Slac I
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package main
import

func main() {
var number int

fmt.Println( )
number = 10
fmt.Printf( , nhumber)

fmt.Println( )
number += 10
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fmt.Printf( , number)
fmt.Println( )
number -= 10

fmt.Printf( , nhumber)

Assigning 10 to number...
Number = 10
Adding 10 to number...

Number = 20
Subtracting 10 from number...
Number = 10

oM. Cawl o 631> Lolaisl OT Q =)§.Lm:)'| o3laiwl b 10 )la8.0 g yusio SOl cuwl 634 o5 lasiuw] L,:amm)ilm: ¥l dobyy )
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var number =1+2*3 /1
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+ - ! ~ ++ - - (type)* & sizeof

*x /%
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= += -= *= /= %= >>= <<= &= "= |=
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var number int = (1 +2 ) * (3 /4)%(5-(6%*7))
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var number =3*2+8/4

b P lal iy 3 50 Glwlxe )3 1) T cunly 0wz 5l 0L L el pl . 3iiud (SnSy pads G2 Ghld / ¢ * )Xlac 93 ,0

<350 )8 number e )3 g 63,5 Ras |y Wyl 93 Azl Coled ) L AuS (50 pandS F o ) A dde Guaw 9 JuiS(0 V3o

25 31 (63959 i8S

D AWS dzgi ) doliy 4 L MlgS o0 50 |y Enter aaSy a5 (Siloj U auiS 50 U

package main

import

func main() {
var name
var age

var height

fmt.Print( )
fmt.Scanln(&name);

fmt.Print( )
fmt.Scanln(&age);

fmt.Print( )
fmt.Scanln(&height);

//Print a blank line
fmt.Println();

//Show the details you typed

fmt.Printf( , nhame)
fmt.Printf( , age)
fmt.Printf( , height)

Enter your name: John
Enter your age: 18
Enter your height: 160.5

Name is John.
Age is 18.
Height is 160.5.
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02l 3629 (Rl (1Y 9 1F A bghs) cusl Scanln() e 51> )5 g pusio ob 1 6 & Colle 929 g (ygelyd 1l a5 «iSs
il ]y dbgiye yusie jlade lab U dley yhiie a5 323 (50 |y 5ol (il 4ebp & Wojusie pb ;1 Ju6 g Scanln() Xio J5I5 5> Slac
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Qaaas g)lislw

el Ll (gh1> dely S a5 3 jea3 Jlo . 3350 iake balyi 53 1) 35 gyl 65lo] lad 4 Lung 4ol (sleil; dao Ly )yds
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if,giws @

if.elseygiws o

GBxz if jgiws o

$ e 1f joiws e

switch)giws ®

if )9
if joiws .S a8lsl 395 doliy @ Glhin SO dgds0 A5 SO dloyl Cuel &5 Hols byi S g 1f jgiwd jl eslaiwl L ylgs 0
D cwl ) g0 4 if e Hlishe 030 plodl ) iume 35wl jIBp by ;ST 39550 doly a5 Cuwl by Hgiwd (3563w

if condition {
code to execute

}
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Oylie S by 390 Lol A5 Guown AL Cunyd iy b HhBp by (ST 3650 () by labl if jHgiws ghal 51 J8
0955 43 ;@5 45 Lo o5zl .3)S eslaiuwl by (39 Bl b Cuwyd Cawd (gl (glaunlie (slo,Slac jI (lgise ] (glamslio

511, Goodbye World g 1o jl yiaS number ,laio ,S11) Hello World pley ;5 dely .mjlaiw dely J51 )5 if jgiws jl edlasiwl

L3I0 Uigled dxiuo 3 Jibb J5S)5 1o 5l number Hlade

package main
import

func main() {
//Declare a variable and set it a value less than 10
var number int = 5

//If the value of number is less than 10
if number < 10 {
fmt.Println( )

}

//Change the value of a number to a value which is greater than 10
number = 15

//If the value of number is greater than 10
if number > 10 {
fmt.Println( )

}

Hello World.

Goodbye World.

4olyy paay50 Yo o5 )5 if jgiwd gl 4 (Si8g .l 044 0315 Lolais! (T 4 O )laie g iyl number b b juio SO Y b3 >

<l Vo jl )5 S2gS B (i) Cawl yiaS Yo jl number )lado a5 330 Houdui

29d 50 wlz Hello World plew o (1) 3) aiS,0 Lol |) jgiws if jgiwd ¢pulplo . 3bbse Cawyd duglio dzui a5 Cuwl ikio
auwglie 1o b |y number lado doliy @uw)s0 WA k25 )5 1F jgiwd (paegd @ (;Bg .(10 L5) @b (50 ,uei 1O & |y number )lade Jl>
Oz Algie Lad (10 b3) iS50 Ll |y Goodbye World pléw deliy cawl y55)50 1o 110 (sizy number jlads ()52 g iS50
Glygimwd dad . 3uS e3laswl lygiwd glgbl g 13l (315 L (glp 3Y9ST G j1 &5 CanwnsdlS  aumnigy 1 Hgimwd J5I> )5 1) jgiwd
D Cwl pj Oyoo G I Ga 515 )0 jgiwd Az yel gz i 1 Hgiwd 4L jo VST o J5b

if condition {

statementl
statement2
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statementN

}
D odkw Jlio SO po (2
if x > 10 {
fmt.Println( )
fmt.Println( )
}

)9.wb.o e plen 9 RWIE) )JLS))J Yo 51 X 5lado )jl YL JUio >

if else )95

ST aolei Ladb a5 (Hloj Lol 394 planil (ol>)8 352 ))8) UL )T 5imy 39)50 )5 @ ol il S ghal ¢l kb i )giws
if else jgiwd )lidle .3uS eslaiwl if else jgiw jl 33 39 ol S0 g 390 18, ;51 g Hgiwd S 2 Hhdy (pols by

T Gl 034l 3 >

if condition {

code to execute if condition is true
} else {

code to execute if condition is false

}

9 1f 43 U515 )5 (nlyol 35 SO ks (51590 63,5 & if L 1L lai> b 5)S eslaiwl (pleid W ylgisai else (gaulS aals
CaanydU 1f jgiwd 515 by a5 dqds0 ol (3)00 )5 kid else Sgby J515 35 .l (5y)Lis] SYoST jl oslaiwl 3y)l> else diyy

<l oaol if.else jgiwd jl odliiwl 69 p3j 5 .3l

package main

func main() {
var number int = 5

//Test the condition
if number < 10 {
println( )
} else {
print( )
}
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//Modify value of number
number = 15

//Repeat the test to yield a different result
if number < 10 {
println( )
} else {
println( )
}

The number is less than 10.

The number is either greater than or equal to 16.

092 9 4 b Cuwl yiaS 1o jl number yio jlabe LT a5 EUS( 50 Cawd Y b5 53 g @led)S Liyyel nUMber ol @ jusio S F ks >
@y Vo 5l 418550 5yl 4 g @udd s |y number Hlado )51 g (A b5) dgds0 ol if Sgly J51d 35 o )3 wunl yieS

(A b3) g0 Iyl else Sgb J515 35 g (1Y bo3) 39450 Cawo)dU by (IF L)

if..else if..else 9w

@ 1) if lygiws ¢pl &5 Cunl yigr 9 1S dlaiwl if Hgiwd (paiz 1 Wlgize T3S e H 5 3uiS oy |) by Jiz Luslgso )51
PARgh ) ©)90

if condition {
code to execute
} else {
if condition {
code to execute

} else {
if condition {
code to execute
}
} else {
code to execute

}

L A5 505k 1) Vb A Algig0 Aoy else ol Jsls 2O N8y 93 )90 4 1) ©lhgiwd Cuwl yigy .l Caduo YU AS (N5lgS

if condition {
code to execute

} else if condition {
code to execute

} else if condition {
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code to execute
} else {
code to execute

}

H9iand .l dimwlg if joiws @ ju5 else if ¢ else wile a5 35la b 38,5 oL |) if else jgiwd jl osliiwl 69 a5 Jl=

19 39850 hol gamy else if giwd 2ib ol else if S| Jl> aib ol if jgiws (gl 45 Seise Lol 8 else if

package

import

D a3 lid |y else if)giwd jl eslasiwl 0900 y3j doliy 390 ol else jgiws Calg )d 394 Ll ju T

main

func main() {

fmt.

fmt

fmt

var

fmt

Println( )

.Println( )
fmt.
fmt.

Println( )
Println( )

.Println( )
fmt.

Println( )

choice

.Print( )
fmt.

Scanln(&choice)

if (choice == 1) {

print( )

} else if (choice == 2) {

print( )

} else if (choice == 3) {

}
¥
¥
¥

print( )

else if (choice == 4) {

print( )

else if (choice == 5) {

print( )

else {

print( )

What's your favorite color?

[1] Black
[2] White
[3] Blue
[4] Red
[5] Yellow

Enter your choice: 1

You might like my black t-shirt.
What's your favorite color?

[1] Black
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[2] White
[3] Blue
[4] Red
[5] Yellow

Enter your choice: 999
Sorry, your favorite color is not in the choices above.

S 3gids0 Ole Galixe (glgoley 3uiS(0 QD] (G2 42 lad a5l O diuwy .Cunl diuwslg choice jio 4 Vb daliy 29)>

.3gd 50 ol else Sgb 4y bgyyo A5 divls 0Dl gleils J515 55 2S5 ol Lab 45 (gdac

9 P9 lf:)9u403
323 1 Hgiwd 515 )5 if edlw jeiwd Sy .3, edlaswl GO 53 65 )5 g3 if joiws jI ¢lgise

if condition {
code to execute

if condition {
code to execute
}
else if condition {
if condition {
code to execute

}
}
¥
else {
if condition {
code to execute
¥
}

D e ol ) g3 )3 93 if Hgiwd jl edlaiw] 69z 45 Moy o5l

package main
import
func main() {

var age int
var gender

fmt.Print( )
fmt.Scanln(&age)
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fmt.Print( )
fmt.Scanln(&gender)

if (age > 12) {
if (age < 20) {
if (gender == ) {
print( )
} else {
print( )
}
} else {
print( )
}
} else {
print( )
}

Enter your age: 18
Enter your gender: male
You are a teenage boy.

Enter your age: 12
Enter your gender: female

You are still too young.

Jlgw Lais 51 liwis 0)L)> W b5 )5 .(\o .b_'>) AiS (50 Jlgw ¢yl )b Laid jl doliy lab] . 0uiS (91 A5 |y doliy a5 3oy o5l
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Caiz Lol 53 (A b5) 2950 azlge (303 if SH L g 63 pgd 1f 654y 3)lg Wyguaisl )3 bl Yo jl yiaS lads ¢pw 45 @uiS(50
bgyyo else Cuawd yganl it 53 390 hal i (puogw 435 J515 (saS aibb “male” ply 5145 3,50 )8 wyp 3)50 Lads
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switch qiws

Al didld Ol iz jukio SO ol Hlade 4 dzgi b 45 A0 ojlal Lad 4y a5 3)l> 3929 switch pb 4 (g)lislw Go )
L g sy olacl jl DU polde bad juio switch )giwd jd a5 wolas ¢l L cuwl if.else if jgiws Jsleo switch jgiws

! Cawl 030l switch jgiws jl oslaiwl 695 535 5> LAkt juues (Pl a5 3w (53lEe ol yslio . AiS50 Joub |y oyiShIS

switch (testVvar)

{
case compareVall:
code to execute if testVar == compareVall
case compareVal2:
code to execute if testVar == compareVal2
case compareValN:
code to execute if testVer == compareValN
default:
code to execute if none of the values above match the testVar
}

Sob J&d case slod)le 51 So o b Hlado ol Lad0 Hh8 cwl testVar Yy Jlo )5 a5 switch o )o lade SO ol

A Algs ol case (T 4 bgyye 35 39y ply case Whgiwd )3 39290 p3lio j1 G o b jusio Hlabo H51 .39 50 dmslio switch
switch jgiws .puS edlaiwl 3¥gST 51 3o b yidw S 1 case jgiwd J515 odS s slasi S i a5 a5 dzgs aiSS ol @
295w 3l ply case wlygiwd jolie 51 Sy o b juoio Hlade a5 390 ol (S3)g0 53 joiwd ¢l .3l default s SO
O wy=l @by Lol Cunsd pgo @ Hgiwd ¢l (5o L 2idl5a5 (85l guo dgd Wis switch 4y 1,51 g cuwl )Lzl default

DS dazgi switch jgiwd 3y90 jd (Jlie ) i gise Whgiwd HLL Hd )

package main
import

func main() {
var choice int

fmt.Println( )
fmt.Println( )

fmt.Println( )

fmt.Println( )

fmt.Println( )

fmt.Println( )

fmt.Println( )
fmt.Print( )
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fmt.Scanln(&choice)

switch (choice) {

case 1:

fmt.Println( )
case 2:

fmt.Println( )
case 3:

fmt.Println( )
case 4:

fmt.Println( )
case 5:

fmt.Println( )
case 6:

fmt.Println( )
default:

fmt.Println( )

What's your favorite pet?
[1] Dog

[2] cat

[3] Rabbit

[4] Turtle

[5] Fish

[6] Not in the choices

Enter your choice: 2
Your favorite pet is Cat.

What's your favorite pet?
[1] Dog

[2] cat

[3] Rabbit

[4] Turtle

[5] Fish

[6] Not in the choices

Enter your choice: 99
You don't have a favorite pet.

3ylg Iy dae Lo .l 63 031> Cumd dae SO plous 10 pwl & L350 |) HBdBMe djg0 (ylgas D] ojlal Lak @ YU aobyp
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if (choice == 1) {
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fmt.Println(
} else if (choice
fmt.Println(
} else if (choice
fmt.Println(
} else if (choice
fmt.Println(
} else if (choice
fmt.Println(
} else if (choice
fmt.Println(
} else {
fmt.Println(

9 switch) jgiws 93 ¢l pw jl Jlo . 3bbe else jgiwd Jolee default jgiwd .3yl switch jgiws il (glasuis [FFRRVANS
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fmt.Println(
fmt.Println(
fmt.Println(
fmt.Println(
fmt.Println(
fmt.Println(
fmt.Println(
fmt.Println(
fmt.Println(
fmt.Println(
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for ail>
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for initialization; condition; operation {
code to repeat

}

BB for dil> 51> )5 ks 635)laid 0350 ail> 035)lad 4 a5 Cawl (g)lado (gl (initialization) adgl @5 )lade
L DL doldl dils> a5 S50 s g IS (50 dunlie (503 Hlaie SO L 1y 045l Hlade lxigl )3 (condition) by .l (uwyiwd
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package main
import

func main() {
var i, j

for i = 1; i <= 4; i++ {
for j = 1; j <= 5; j++ {
fmt.Print( )

}
fmt.Println()

Number
Number
Number
Number
Number

Number
Number
Number
Number
Number
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for i =10; i > 0; i-- {
//code omitted

}
4ol (=) Ginels )Slac ;1 03laiwl b g @ad 50 Vo |y 635)laid adgl jlaie (S8 @ S)yp 1) 30 ol ) @ o i) slacl YU 35
dil> G HS1 .38 el g5 53 g3 yg0 @) il 51 45 3o 50 6jl] Lads 4 GO . @uiS( 50 dloul 3350 plsl |y GweSee (i)lads a5
@ Gl Al (Sgym dil> )b S (ghal Gl @ ddl> g5 ()3 g0 4idS 95 ) o5 il (o @) 50 )8 S ddl> Y515 )
T Gl 0301 g3 )3 g3 didl> sloul 0925 5 5D 3950 Lol JolS job

package main
import
func main() {
var i, j
for i = 1; 1 <= 4; i++ {
for j = 1; j <= 5; j++ {

fmt.Print( )

}
fmt.Println()
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continue g break ;l sslaiwl b adls> I yaw 2,5

1 eslaiwl b Taued plsil 1) IS (il johe &5 Cunlos] Jlgw 39d iBgie dils @udlgb 0 by (1393 Cuwyd 3929 b wlégl Lol§
a8y Ay alzyo 4y 9 35 ) ) ddls I widy plgige continue (gadS aalS 1 eslatiwl b g 63,5 (adgio |) ddl> break (gaalS aals

D a0 v |y break g continue jloslaiwl 09z 55 doby

package main
import
func main() {

var x
fmt.Println( )

for
fmt.Printf( > X)

fmt.Println( )

for x = 1; x < 10; x++ {

if x == 5 {
continue
¥
fmt.Printf( y X)

Demonstrating the use of break.

Number 1
Number 2
Number 3
Number 4

Demonstrating the use of continue.

Number
Number
Number
Number
Number
Number
Number
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var arrayName [size] datatype
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var numbers [5] int
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numbers[9]
numbers[1]
numbers[2]
numbers[3]
numbers[4]
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numbers array

numbers(@] numbers[1]  numbers[2] numbers[3] numbers[4]
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var arrayName = [size] datatype { vall, val2, ... valN }
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var numbers = [5] int { 1, 2, 3, 4, 5 }

2@ )lado 4 Guadl 1 edlatiwl b A5lgise e L aod 0 (oL 1) LwgiaS (glehks dlaes g 318 (Sglel gue Jud Jlie L Jle ¢l
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package main
import
func main() {

var numbers = [5] int { 1, 2, 3, 4, 5 }
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numbers[5] = 6

fmt.Println(numbers)
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package main
import
func main() {

var numbers [5]

var total =0
var average

var i

for i =0; i < len(numbers); i++ {
fmt.Print(
fmt.Scanln(&numbers[i])

for i = 9; i < len(numbers); i++ {
total += numbers[i];

}
average = ( (total / len(numbers)))
fmt.Printf( , average)

Enter number:
Enter number:
Enter number:
Enter a number:
Average = 86

a
Enter a number:
a
a
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var arrayName [row] [column] dataType
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var arrayName [row] [column] [height] dataType

2093 ol )3 &5 203 o5l 33,550 )58 odliil 3)90 yiaS Hluwn 322 93 51 yiddew L Gl b a2 4w )T &Gyl Jub> @
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var numbers [3][5] int

QT 2 )3 puaic yo e yj JSib )3 (S 10 JUo o2l )3( 033 polais] Q)T polic 4 (B (Lad &5 29550 Hhlels 4 Vb 35

Gl 83 631> (i (gae) ¢

number [3][5]

number [0][0]| | number [0][1]| [number [0][2]| |number [0][3]| iInumber [0][4]

number [1][0]| | number [1][1]] | number [1][2]| |number [1][3]] | number [1][4]

number [2][0]| |number [2][1]| |number [2][2]] |number [2][3]| |number [2][4]
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var numbers = [3][5] int {
{1, 2,3,4,5 s
{6,7,8,9, 10 s
{ 11, 12, 13, 14, 15},

1Ak J1S pledl Giwd Wygo 4y ) polic 4 25 )lade vlgise b g

array[0][@] = value
array[0][1] = value
array[0][2] = value
array[1][@] = value
array[1][1] = value
array[1][2] = value
array[2][0] = value
array[2][1] = value
array[2][2] = value
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package main
import
func main() {

var row, column int

var numbers = [3][5] int{
{ 1, 2, 3, 4, 5 }:
{ 6, 7, 8, 9, 10 }:
{ 11, 12, 13, 14, 15 },

}

for row=0; row<len(numbers); row++ {
for column=0; column<len(numbers[0]); column++ {
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fmt.Printf( , nhumbers[row][column])

}
fmt.Println()
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package main
import
func main() {

var student, grade
var studentGrades [3][4]
var total

for student = 0; student < len(studentGrades); student++ {
total = ©
fmt.Printf( , student+1)

for grade = 9; grade < len(studentGrades[grade]); grade++ {
fmt.Printf( , grade+l)
fmt.Scanln(&studentGrades[student][grade])
total += studentGrades[student][grade]

}

fmt.Printf( , (total / (len(studentGrades[student]))))
fmt.Println();

Enter grades for Student 1
Enter Grade #1: 92

Enter Grade #2: 87

Enter Grade #3: 89

Enter Grade #4: 95

Average is 90.75

Enter grades for Student 2
Enter Grade #1: 85

Enter Grade #2: 85

Enter Grade #3: 86

Enter Grade #4: 87

Average is 85.75

Enter grades for Student 3
Enter Grade #1: 90

Enter Grade #2: 90

Enter Grade #3: 90

Enter Grade #4: 90
Average is 90.00
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Slice
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make([]Type, length, capacity)
make([]Type, length)

[1Type{}

[]Type{valuel, value2, ..., valueN}
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package main
import

func main() {
var numbers = [] int { 10, 15, 17, 20, 13}
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numbers = append(numbers, 6)

fmt.Println(numbers)

}
Cagz (solizo (sloaie (ghyld Slice .l 03)S adlbl (T ay ) 7 lade (jisl) & A b3 > g @il 83,5 Layyei Slice G Wb 3S 7 b >
O paic Sy 53,5 BLSI gl T 51 35 > a5 cuwl append() dio Wil jI O .32 o |y polic ... g ()35 4S5 455 a8lol Wbl
E yiohb gl .3,5 (5o yialhb dw Lie ¢l .l make () Lo jl eslaiwl Slice sloul gl 5o Gbgy @l 635 eslaiwl Slice
1S dzgl 5 A5 @ . bb (oo Slice Cud,b Legw g Job (5093 350 Cuwl Hl)E Slice a5 (lo 631>
package main
import

func main() {

numbers := make([] > 5)
numbers[0] = 10
numbers[1] = 15
numbers[2] = 17
numbers[3] = 20
numbers[4] = 13

fmt.Println(numbers)

}

[13 15 17 20 13]

0,53 paic Sy pj A5 jl eslitiwl b @uilgs 5o qaulesn 51 e @l 03,5 Liyyei O Job b g numbers pb & Slice < Vb a5 )

1paS adlol Slice ¢y
numbers = append(numbers, 50)

©9lad Yol g 394 (50 a2 Slice cad)b b pow yiohly LaulSS Jlo @il 63)S Hasuiwe |y Slice Job Lo VL3S F L5 )5 @i KO bl

T3S azg5 5 Jle 4 Tz @ b 93 (2l

package main
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import

func main() {
var arrayOfCharacter = [11] string { B , , , , , , 5 5 g }

sliceOfCharacter := arrayOfCharacter[6:8]

fmt.Println( , cap(arrayOfCharacter))
fmt.Println( , cap(arrayOfCharacter))
fmt.Println()

fmt.Println( , cap(sliceOfCharacter))
fmt.Println( , len(sliceOfCharacter))

Capacity of
Lenght of

Capacity of
Lenght of

o2l il Slice b by SO A b3 55 3bb o ) T polic slaed gy @il 03)5 sleyl ,iSTHE W Job 4 )T G Lo Vb 35 £ b3 >
LR O b Gl Y Gl (ghls oS (gpuaic G F Lugsl ghls &S (gpuaic j| &5 Canl Gige a1 k5 [F:Y] ] 03,5 slaul aglyT
93 jl oslaiwl L Ve-IF bghs )5 Jlo 6 )l)8 sliceOfCharacter pb 4 Slice &G &I )3 9 S laz h h gt lo ySHES iy
Q)T polic dlasi ey . Lplp po & QLT cudlb g Job @l 03,97 Cund @ 1y Slice g )T wud)l ¢ Jgb cap() g len() io
Y YL JUo )> a5 Slice polic sla=i Slice Job s Jlgio ¢y gudg Slice ) Lol .l lT cad)bs g Job 63iiS (asuive
4295 ) S ) yigr )3 (5l 0 i 2L 0 LT L B sl 0ads Egpid T oy Sl jl S1ice wud)b (g i paic

T3S

s | i c e t h i s

e —
Capcity

map
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33 9l 8383 g jgol iy 0b JUie (lgic 4y L3S 6,usd Hlade /3ulS (wlwl p |) Glelbl Lolgsy a5 3gd 50 o3lakwl (lej map ;i

1 3gd0( 50 63wl o @ make() L5 U 51 map <O slsul gl L ylxdiol
L€ R) D)o &%) 2l g o

map_variable = make(map[key_data_type]value_data_type)

1S 429l pj Jle

students := make(map[string]int)

students[ ] = 87
students[ ] = 70
students[ ] = 64
students[ 1 = 79

2) ©ygo @y Yumap .cuwl (int) (gdac o polis g (string) lais) o oS Eg5 a5 @les,S sloyl map S YL Jbio )
13,5 slewl lgize o

students := map[stringlint {
. 87,
: 10,
: 64,
3 79,

SO Hlade Olz 6l 3,550 Hh8 ol Hlade 3ulS 93 4@ (w0 g iwedle Lojlade/ S (w0 g dgd(s0 Wis make() Yie YU (jhg) yd
139450 Jac pj g0 4 po Azhar Wie S

fmt.Println(students]| D)
Wo)lado/3als plad ol (gl . dawgiso ) AdS pU Sy 515 )5 Guaw ¢ gy 1) 3165, wlxail map gl a5 (5ob Tl (s

D gy | map b bdd cawadls

fmt.Println(students)

map[Peter:10 Mary Jane:64 Azhar:79 Jenny:87]

13,5 oslatiwl 5 w)go 4y delete() &U I plgie po Hlado o Wiz (gly
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delete(students, )

239 Bis cunl )8 a5 (gaulS (5,505 g map pb (Jgl 3y (50 logS)T 93 Xio il

Range

@ . 39d50 0dlatiwl map g Slice )T )5 39290 p3lEo (39T Cuwd @) g Linlew (slp g For dils J515 )5 range (gaulS 4alS

TS dzgi pj JUe

package main
import

func main() {
fmt.Println( )

numbers := [] {7, 13, 2, 5, 9, 5, 4, 8, 10}
for i:= range numbers {
fmt.Print(numbers[i], )

}

fmt.Println( )

students := map[ 1 {
. 87,
. 10,
. 64,
2 79,
}
fmt.Println( )
for key, value := range students {
fmt.Printf( , key, value)
}
fmt.Println( )
for _, value := range students {
fmt.Printf( , value)
}

Array Example ...
71325954810

map example with key/value
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Peter: 10
Mary Jane:
Azhar: 79
Jenny: 87

map example just value
87
10
64
VE

o gl b Slice S5 ) 39290 pslie 4 Luwyind (gl A 1S Wb a5 johiled .l 02 iyl @l)T L Slice <G A b5 >
For ails> ghal gl 5> Wie iy iS50 o3laiiwl Slice pb (golm g dibgyS J215 )0 Gmdil ol jl e b5 )5 Guuw eadd(50
©U @ map <SG 15-¥) bghs )5 540 il g 80l Cuwd 4 numbers[0] jl eslaiwl b )l jaic (gl jlado dmuis )3 g o Luo il
9 Slice T (slo)lado g LSl (ylgi ;0 a5 sl ¢pl for dil> (515 )5 range glocubl I LS .l 004 wayyei students
Iy map slogmasl ;5395 job 4y daliy douil g 63,5 Layyel juRis 93 g @ledls pll |y HI5 (] YO b5 )5 3591 Cuwd 4 po |y map
@S Ol |y polio ks awlgsn S| Jl> 3350 )8 Value isy 093 juie J515 )3 1) polie g Key imy jusio opdgl J515 5o
Gl (sigo (0 il )d e epl iledls plosl VY bas 5> aS (6)15 . puiS edlatiwl _ (blank identifier) cuole jl S cuwnasls

)l s @ (g5 Lo oS
o

l.e,\T)I 0193Uo dAU).) st)m » a5 A as )'| led.cyn?.n 9 .)..uS uu)m I) 4.0.;b9 L )L’ié) k_i.) a5 RV AT ojl_?l Loid L i
23Syl (505 Ao JB15 )3 1) die Sy lgises . S0 peduine |y Yie diubg 45 iimd (lgilegS)T GhId o xie 3,5 e3latiwl

2313 pbmain() die (pl g Egpid 1S 51 1L Ai1d05 aoliy ()l (9 g Cuwl doliy o jlel dlad)
-Gl T Cadlyys Hhiie Ao 45 Miiud (R lad Woyiel)l
Vg0 Jyl oyislyly 45 S Aiiud (5plio loylegS)T

Dl ) g0 4 ke S HlSle ()55l . Ng)50 )5 4 Hobiie S 4 logS)T g yiol)ly dalS 95 wBgl o
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func MethodName(Parameter List) returnType {
code to execute

}
D Gl 004 oslain] Ginle dmbio )5 pley SO ol (gl Lo SOl aoly ¢l )d L3S azgl 5 edlw aoly @
package main

import

func PrintMessage() {
fmt.Println( )

}

func main() {
PrintMessage()
}

Hello World!

1o )55 die 513 53 1) die ¢l lgiise . 3uS Cinyes main() Lie pj oy die ¢l 3lgie @103, Liyyes Ao S O-Y bghs >
@63, Liyyei plewy S ola (gl a5 (gxie pb T U513 53 puilgize a5 canl main() e lxigl j3 Lo ;505 die (3,5 (Slg=>)8) 55

@13 1o |y (PrintMessage () Aie (=)

33 63507 ()3 53 .31 LSy Hlaie Ak a5 Cusl (T 835> (LS a5 (@l 83,55 Hasuine Iy returnType Cuawd YU Xio Liyy=i >
.Cuol PrintMessage() Lo ko pb .ab adlgs 631> pusgi alidee Blaol (gly o ;1 esliiwl g die S jl Sy Hlado 3590
IS0l Glig) ol mle)S edlitiwl (3950 aidsss )i aalS 10 Jgl 18)=) Jusly g, j die (6)350L )5 45 S a9 iS5 ol @2
Cawl yigy . 3iS edlatiwl W aie Goudiid (gl gy ol jl 45 950 Slgidiy Lol «3)SG o3laiwl (yivg)y ¢l j1 lgise 9 wawl (315,18
@ icxan .0penDoor L GoToBed sile (el Wie AiS(se Lasuive |y dio o HIS a5 394 e3laiwl (SilalS jI baie (6)1350 )5
ablo AuiS Gl lgw 4alS Sy Syg0 @ |y 395 o @wl duilgine ABL gy e Sy e LLESy Hlaie )1 Jle olgic
O LT 50 U jl a=y a5 (6506l 93 .auS (5)la395 Nio @wl )3T )5 Jlaw ode (idldS I (Jg IsTeenager.. L IsLeapyear
Glew)yd 53 .3)135 (5ol (H92 SIS Aidgd (Siaz A Wil J215 )0 JU ¢l ) .l Lo S @ (Gl=ie pb a5 Cuwwl T saiod

'M')L)"o &@9;\)342&\.} o Lo .\)940 ).\ 6.).3:)"'
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3YgST (! J215 )5 Iy 359 hol @udlgds0 a5 |) (23S 9 20350 JuSuid |y Lo day a5 @350 y)8 V95T 95 Wil jI Ay

aidgd |y o pb camndlS dio S (93) 1o (gl .padjire 1o |y @163, eyl 6 b )3 a5 |y (gase main() e J>I> 5> eamgi 0

-3 L8 |y il ob 5l s 9

Gy 095 0301 (5lewyd 53 15 y30 Gl )3 3483 )8 3l 513 )3 Cays @ ) LplegS)T Laid by «aibly iehly (ghls e )3
d=e 4 main() dis jl aeliy PrintMessage() e glyal (glp 33050 ! (T 63 J51 (sloas xie S (93 o b a0
Gi=d O b5 4310 bl deby pjie 130 1o s 3 |y PrintMessage() vio Lo (389 Wi .39 ;0 PrintMessage() Yie wiyyes

355 Lo |y T Ailgise daliy (ol (slodie dad g @y)ld daliy )d Yio o Lo (59| .3g)(50 834 Liyyei Yio oS (plo

Lio S5 jl by jlado
o3laiunl 390 6315 S (33,97 Cuwd @ b Sluwlxe j3 IBlg5 50 ypdlie ¢yl . 3ibb alidl (glosls Egb 4o 51 LUiSy Hlade Jilgs 0 o Xie
@l B 9,15 a5 wolgs0 9l jl g 3uijiee 1o ) gl Lads 9 sl wie S Lads 3ia)lS 45 3035 10)9 0p09) (53 > 35K 1)
3 age &S5 . Cawl Lo Sy HlaEe (lad Jiw a0 Jag=d Lads @ |y Jiws ()15 pladl 1 amy a5 Juolg>0 gl 51 G ke HLL
Ub9)y 4 ie Liyy2i )3 CawdlS .l lwl die G 1 Hlaie SO cuiSy .l T 1 Lads 63liiwl 6920 g (S Hlado cdio Sy 3)90

S Jas pj

func MethodName() returnType {
return value

}
jl A g return (g3ulS dalS sie 53y J515 )5 (... g bool (int) AiS(,e pasuine |y Sy Hlade (lesls Egi Lyl )5 returnType
L3350 Gl |y Cul LSy jlade (ghls a5 Aie S i JUie L 394,53 lojiily jl e g Ao

package main
import
func CalculateSum() int {

var firstNumber int = 10
var secondNumber int

]
(9]

var sum = firstNumber + secondNumber

return sum
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}

func main() {
var result = CalculateSum()
fmt.Printf( , result)

}

Lo Ao Sl (5T 6303 (L a5 @163,S esliiw] int dalS jI die Ciyyei pisd 3uS,e 03lie G98 Jlio & k> > a5 jghilad

L Blodds (523 Hlado g Layye e 93 V g £ bghs ) wl Zusuo dlacl Eg5 5l Sy lade (ghld

BB main() xio diile akie plw jd yio (pl 5 Cwl o Hlu (Rl § Akwe o (loyukio oyukio (il 45 JUS dogy
33 .35 (50 )8 sum ko 5> juie 93 gaz 1 b3 )5 Akiwe e3laiwl JB cdSlodis Layyes ()T 53 a5 (gdio yd bid g Ay (uyiwd
Cye3 10 k5 )3 result pb 4 peie S main() aie J515 5 390 (Hlg>hé return jgiws bwgs sum sy jlade 1) b

iS50 (Slg>ly8 1y CalculateSum() dio g puiS(s0

Jasio )3 63 653 Hlade 15 b5 jd 300 0D result e J5Is )3 a5 W1Se o 1) 10 Hlade CalculateSum() Aie
odib diidgd YU Ao )3 (63L) (AT D929 b s (630 9 (6305 Ao i )53 U ¢l )3 45 (gdie 29450 il result
o2l @3 polaisl T 4y )10 )lade g 03,5 Linyei e Sy Gizl) 4 prwlgie AUl ) Wl 10 (i6S)) )l ade adined g
J515 55 @ublgs,0 a5 LalKio 31 ol Ausgs 63T (Sleas)d )3 S g LSl (T 4 (pdyial)ly a5 Cusl JlS (550 )> Aie
495 1j Jlio & Cllao (Rl yigy S)d (gl 3l LSy Hlade Gh1d LS plas 1L @S esliiwl switch b if jgiwd jl Xie SO

DS

package main
import

func GetNumber() int {
var number int
fmt.Print( )
fmt.Scanln(&number)

if number > 10 {
return number
} else {
return 0
¥
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func main() {
var result = GetNumber()
fmt.Printf( , result)

Enter a number greater than 10: 11
Result = 11

Enter a number greater than 10: 9
Result = @

bungi 63 3)lg d3c )51 .a0lg> 0 |y 1o 5l 45550 dae SO )5 1 45 Cawl 63 Layy=i GetNumber () pb L e < 0-10 bghs >
©ha! pid 5> @S B> T jl 1) return jgiws b 9if jgiwd else cuawd 519 .3515)5 50 p |y yiu0 Hlaie i JdL Cawyd yy)lS

- 950 42lge et pley b doly

9 213)5 |y 00 Hlaie U 39)50 else Cuawd 43 4oly (35S 3)lg 1) 1o ;1 yiaS (gylade y0)l5) 3l )b if jgiws by 51 ez
e @ 5L doliy (92 d9b Wi return jgiwd S| uicad g 3950 4zlge Uas b doly cusl 63 Bis else Cuawd (92
S lgie Ladd oS Cawl ol @uo> Ghjgel Laid 4y @dlg>0 )3 ] )3 &S e ST 9 a0 e pliy 31> LSy
@ ol )3 |y return (3.5 dalS 3.lg350 po b bl aiblas GLbSy Eg gud Yo )| iz . 0gd 2yl )3 WSy ylade o Lo
239d 50 ol 51 a2y (IS (ghal g i B 5l 29,5 Cacl return jl oslatiwl .a)w )5
package main
import

func TestReturnExit() {

fmt.Println( )
fmt.Println( )
return

//The following lines will not execute

fmt.Println( )
fmt.Println( )
}
func main() {
TestReturnExit();
fmt.Printf( )

Line 1 inside the method TestReturnExit()

Line 2 inside the method TestReturnExit()
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Hello World!

o 8313 (i (GAulS dalS (¢l jl 3=y (GBS dad (418)S 61330 g return (GaulS dalS jl sslasiwl b Xio 5l 29y 695 YU daliy >
Lio S aSipl (3T a5 L3940 Izl g Slg>lyd main() ase J3Is j> (TestReturnExit()) saub Layyss aio doliy bl ) sl
TS 4zl pj Jlie 4 Labb LSy Hlade Mz hld Llgi (e
package main
import

func ShowMessage(strl, str2 string) (string, string) {
return strl , str2

}

func main() {
fmt.Println(ShowMessage( , ))

¥
Hello World!

dB1 )3 1y Sy pdlie (seled g5 b Aimd (LusSp Eg Az gh1d &5 (podie (glp S (50 s3lie YU 15 )5 a5 jghilas

.((string, string)) sile S laz @o 1 Ll b 1) 5T g didgs 301y

> (yLogS)l 9 Woyiol)ly

A0 5h8 Lok HLasl ) wuiue o JWs 4 &5 1) SSlebl Guaw g 350 (051350 1) LT die a5 A (ol (gloosls W yialyly
5 3530 Ko Ky Wy 0Ll 4 b GBS 5T G1b 2 €S 14230 i)l Ky 4 lads o Akiand eMbI Ao o tably A4S b5
Dl 6add 0315 i Hiel)b N b Lo SOy 5> 3L 631> calizeo Elgil jl Blgise yiohly @ Al aildly yiolly slass

func MethodName(paraml, param2, ... paramN datatype) returnType {
code to execute

}
BLS| Xio 4y (63 (slyiohly S5 lgize 3030 planil Ao &S ()5 il 2 33550 )8 L5l (9 o U 1 32 loyial)ly
Ngiz0 0313 Yolais] W yiel)l 4) 45 Jisud (gp3lio olegS)T . 3uiS (ueli jui 1) ()T (sleilegS)T 1L Yie Sy (Silg21)s jI 3=y .38

0bj s> g ikio (U aal 3929 4 Cucl LpilogS)T Jluyl )3 )i Coley pac .Cunl ago Woyiol)ly 4y L3logS)T Jluyl uisys

F i Jle S &5 3o ojlal Lgdi 0 1yl

package main
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import

func CalculateSum(numberl, number2 int) int {
return numberl + number2

}

func main() {
var numl, num2 int

fmt.Print( )
fmt.Scanln(&numl)

fmt.Print( )
fmt.Scanln(&num2)

fmt.Printf( , CalculateSum(numl, num2))

Enter the first number: 10

Enter the second number: 5
Sum = 15

Lio ol (992 .Gl 3ac 93 Hlaie gaz T dauddg a5 Cunl 804 Layyel (O-Y bghs) CalculateSum() pb 4 dio S Vb doliy >
Jloyl 5T @ Iy slacl a5 canl yiolyly 95 (ghld ke .abb int LU 5 Lo LSy Eg5 Gu AiS(50 gaz @@ b |) pusus d3c 9 Hlads
<8l (int) asuo dlacl £ 51 ()20l nUMber2 g numberl iz yiohl 95 j& 345 d>gs Wyioh)ly (glodls Eg5 4 .puiS (50
CanlgB)s |y 5ladoe 93 ;)15 5l deliy main() die J515 )5 .2513,550 o |) d3c 93 Raz doud Peturn jgiwd Mie diay ) .3iS 50
Jdol yielb & numl jlade .auS (50 (5lg>1)8 (ile3)S 83leT |y (4T (sle3legS)T aS |y e Jlo 32350 )8 loyusio J515 1) 5T g S0
Jgl yiehly @ num2 )lado (5i2)) a3 yuds die 4y Jluyl S5 1) )lade 93 Lo ST Jlo . 3gibs0 Juuyl p9 yishly 4 NUM2 jlade o

23 (Rle Gls Cavls gaz (92 315 M Aol )3 (6yud o (39d Jlwyl pgd yiehl 4 nuUML Hlads g

Cuiylno 3o )3 834 Linye 1o yiel)b (6,518 waiys b b sie (lg>]d o Lilogs)T Joyl casdys b a5 3l aiibly sk 4 ki
Gib yiohly U a5 35 dzgi a5 diSS ol 4 L AiS e by | il Woyiol)ly doyiohly 43 O g Vo pdldo Jlwyl 51 a2y 2l aisls
(5 b5) die 43 515 )3 39410 dilidgs (394D 50 Alibgd Sy dalS (pa09d Jgl b)) camelCasing by (gyids oylogS 6guid 4y 31,8
0 ) g0 Jsyl (AS,0 (Sle>l)é |y CalculateSum() o a5 (gaio) (ylg>]d Ao 4 dzyi g Mgdi0 Raz @ b lado 93
QU |) @az a2 3l @ lgise &5 34iS(50 630k kgl )3 (g uiS(5e 03kl Oluole Azl 0yu>3 (gl yuie Sy jl 030]

L 39450 Canlg>)d Nigd gaz @ b Cawl )h8 a5 dac 93 Lo jimain() xie J51s )5 (5 k3) sl
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oz oo b Yio 5> )3 pusuo dac 93 iS50 Jyl ¢ U pusuo Hlaie 93 g puS (50 Hlg>l)e |y CalculateSum() vio 14 b3 )
4ol 3 (1A b5) 39450 6315 inles Printf() die dlusg 41 «die jl 024 0315 Sy lado 39450 63513)5p lodT douuis g 6

Pl walizo (glosly Eg5 93 51 yiahly 95 (hd aS Cuuwl 63 Layyel Jio SO )

package main
import

func ShowMessageAndNumber(message string, number int) {
fmt.Println(message)
fmt.Printf( ,» nhumber)

}

func main() {
ShowMessageAndNumber ( , 100)
}

Hello World!

Number = 100

S (0 w8l int Eg3 51 (g)lado OT)].A')[:! 2093 9 Ay Eg 5l (g)lade OT)inl)Q Oyl &5 Cuwl 6ads Lay S (gakie Sy VL JUn o

Ploz1yd pols 3ae S Guaw g @iy SO b Jol |y Lo 11 o5 53 3350 Ui |y Cawl 63 Jluwyl ()T @0 45 (6)l3d0 93 (5w @) Xie

bR SleBh ) yge @ e STl iS50

ShowMessageAndNumber (1600, )

Juoyl asuo slacl gg5 51 (5ol 4 Hello World! aidy g aidy £g5 j1 (5yiohl 4y Yoo d3c (g2 Jol(10 3929 & Ua> doliy >

3ac 93 Jlio (5T )3 44S azgi ) Jlio @ .l pgo Lo (5lg5]hs plio W yiehl 41 lg3logS)T Jluyl assys a5 a3 50 lis ol . A0

©hI> 3o gloyiohly )S1 (g 395 pge 35391 €95 S jl yiahly 93,8 92 T YUyl iy oS @3S Jlu)l loyiohly 4 int Egi 1

sl age LgilogS)yT Jlw)l Ludys 3idb (ols Blaol

func ShowPersonStats(age, height int) {
fmt.Printf( , age)
fmt.Printf( , height);

}

//Using the proper order of arguments
ShowPersonStats (20, 160)

//Acceptable, but produces odd results
ShowPersonStats (160, 20)
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e Golwl p cudyd sl yig po 5L AS Joib (slesly Eg5 SO b (legS)T 93 Ao )31 im aS cuuwl 634b 6315 L YU Jlio >

2o (sBlw 1o gl A8 g Yo o w92 Ve @i 4 JEGI YL Lo (Hlg>)8 gl )5 Jlie glgic 4 .3gb Cule) Woyiol)ly
GHle ]y o S35 ambly @ o 39i(50 o e Yo ol 38 g o padd (uw @SS Jluyl cayi @ ]y LslegS)T )1l
Alg5s0 (i Ladh 45 30350 LS ) 35 455343 Lyl (6)5 3oS (glosio Lads a5 39450 Cach LilogS)T Jloyl g Sy 3o
S35 Jlyl )05 e 4y glegS)T plgic @ 1y die S I GLbSy )laiie

func MyMethod() int {
return 5

}

func AnotherMethod(number int) {
fmt.Println(number);

}

// Codes skipped for demonstration
AnotherMethod (MyMethod())

@@ YU 35 ;29,5 3950 Jw,l AnotherMethod() sie 4 (logS)T (ylgic @ g Cuwl O dac MyMethod () e iwiSy Hlade oz

Ll O dace

olosS;T olgic 4 4T Jlu!
P30S 4295

package main
import

var i int
func TestArray(numbers [] int) {
for i=0; i < len(numbers); i++ {
fmt.Println(numbers[i]+1)
}
}

func main() {
var array = [] int { 1, 2, 3, 4, 5}
TestArray(array)
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A0 i |y Lie SO YU dobiy @S 5o Jlwyl (a3l 5l eslasiwl (5933 g T U j1 eslasiewl b b 1y )T 39850 (Slg>])8 \F ks
oinliel ) LT ghiol 51 G 0 plhs Lo dio J515 )3 0S50 adlol Aoy Sy o polic jI SOy @ g 3Se bl ) 4T SO oS

cEa3(50 (WS |y dzs g 03 2yl o I G @alesls
Variadic Functions

slaul (gl 3ygT0 pohd |y el LT S5 )5 il 6,453 g Egiad (sloyially slgd)s slasi Juyl (Sl Variadic Functions

D390 03wl ) WHgo @) (...) akd dw Caole jl S bl il slgB)d slasd 4y a5 (gadie

func methodName (vaiableName ... dataType) dataType{

}
vaiableName .. dataType wygo @1y (55 Cdlyyd Cunl H1)8 Lo a5 (o (5LogS)T wumidlS IS (10 630 Lie YU 35 )5 45 jghiles
135 a9 5 JUo 4 .35 )53 ) ojuio g5 Culed 53 g ... taole G ol SO (i) L Jum gy

package main
import

func CalculateSum (numbers ... ) {
var total =0

for _, num := range numbers {
total += num

}

return total

}

func main() {
fmt.Printf( , CalculateSum(1, 2, 3))
fmt.Printf( , CalculateSum(1, 2, 3, 4))
fmt.Printf( , CalculateSum(1, 2, 3, 4, 5))
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1+2+3+4+5-=15
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func SomeFunction(varidic ... x, y int) //ERROR

func SomeFunction(x int, varidic ... y) //Correct

JaSin 63930
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package main
import

func DemonstrateScope() {
var number int =5

fmt.Printf( , humber)
}

func main() {
var number int = 10

DemonstrateScope();

fmt.Printf( , nhumber)
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number inside method DemonstrateScope() = 5

number inside the Main method = 10

T )1 133 )0 ) lgise Wi (Sglitio (Godgaze (gh1> &5 paiS Ly Gy b L juin 93 Lo )31 iz &S 3550 oaplile
DemonstrateScope() o J5Is juio 4y b3l gae main() e J215 )3 sad wyyel juie > polaisl alize ydlio
Tl 03930 93 (51> GO L5)1a5

(Local) oo (glopustio @

(Global) gpwlyw (gWopsio

o (g yasio
1AS dzgi o JUe @ L leslaiwl (S die lad S5 ks ¢ Jikwwd (oo Wigdise Layyei Lo JSI> a5 (e
package main

import

func localVariable() {
var number int = 10
fmt.Println(number)
}

func main() {
localvariable()
fmt.Println(number)
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package main

import
var numberl int = 10
var number2 int = 5
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var sum int

func globalVariable(){
sum = numberl + number2

}

func main() {
globalVariable()
fmt.Println(sum)

}
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package main
import

func Factorial(number int) int {
if (number == 1) {
return 1

}

return number* Factorial(number - 1)

}

func main() {
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fmt.Println(Factorial(5))

120
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Factorial(5)

return 5 * Factorial(4) = 120

return 4 * Factorial(3) = 24

return 3 * Factorial(2) = 6

return 2 * Factorial(l) = 2
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type StructName struct {
memberl
member2
member3

member4
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package main
import

type Employee struct {
name string
age int
salary float32

}

func main() {
var employeel Employee
var employee2 Employee

employeel.name
employeel.age
employeel.salary

21
1000

employee2.name
employee2.age
employee2.salary

23
800

fmt.Println( )

fmt.Printf( , employeel.name )
fmt.Printf( , employeel.age )
fmt.Printf( , employeel.salary)

fmt.Println() //Seperator

fmt.Println( )

fmt.Printf( , employee2.name )
fmt.Printf( , employee2.age )
fmt.Printf( , employee2.salary)
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Employee 1 Details
Name : Jack

Age : 21

Salary: $1000.00

Employee 2 Details
Name : Mark

Age : 23

Salary: $800.00
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package main
import

type Employee struct {
name
age
salary

}

func (e Employee) SayThanks() {
fmt.Printf( , €e.name)
}

func main() {
var employeel Employee
var employee2 Employee
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employeel.name

employeel. age = 21
employeel.salary = 1000
employee2.name =
employee2.age = 23
employee2.salary = 800

fmt.Println(
fmt.Printf(
fmt.Printf(
fmt.Printf(
employeel.SayThanks ()

fmt.Println() //Seperator

fmt.Println(
fmt.Printf(
fmt.Printf(
fmt.Printf(
employeel.SayThanks ()

Employee 1 Details
Name: Jack

Age: 21

Salary: $1000.00
Jack thanked you!

Employee 2 Details
Name: Mike

Age: 23
Salary: $800.00
Mike thanked youl!

)

employeel.
employeel.
employeel.

)

employee2.
employee2.
employee2.

name )
age )
salary)
name )
age )
salary)
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package main
import

type CA struct {
FullName string
Age int
}

type CB struct {
FirstName string
LastName string
PersonsAge int

}
func PrintInfo(item CA) {
fmt.Printf( , item.FullName, item.Age);
}
func main() {
a := CA{FullName: , Age: 35}
PrintInfo(a)
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package main
import

type IInfo interface {
GetName() string
GetAge() int

}

type CA struct {
FullName string
Age int
}

type CB struct {
FirstName string
LastName string
PersonsAge int

}

func (a CA) GetName() string {
return a.FullName
}

func (a CA) GetAge() int {
return a.Age

}
func (b CB) GetName() string {

return b.FirstName + + b.LastName
}

func (b CB) GetAge() int {
return b.PersonsAge

}
func PrintInfo(item IInfo) {
fmt.Printf( , item.GetName(), item.GetAge());
}
func main() {
a := CA {FullName: , Age: 35}
b := CB { FirstName: , LastName: , PersonsAge: 33}
PrintInfo(a)
PrintInfo(b)
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Name: John Doe, Age 35

Name: Jane Rock, Age 33
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